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CS/CT/CO-303 (GS)
B.Tech,, III Semester
Examination, June 2023
Grading System (GS)
Data Structures
Time » Three Hours

Maximum Marks : 70
Note: i) Attempt any five questions.

f=€ ofa we=Y oY ga1 Hifrg)
ii) All questions carry equal marks.
Tt WAl & W aiw &)

iii)In case of any doubt or dispute the English version
question should be treated as final,

Rt w6 Hig areET faag ) feufy Ff st s
& W o i " S

1. a) Whatare the different abstract data types? Explain.
fafts st srer v T &2 wIEEw
b) Whatis alinked list .explain its operations with examples.
e fies =t o @) SOEvull & /R g8 Were )
TEAT |

2. a) Differentiate between the stack and queue.
o A Fvar & 99 simr )
b) Write a ‘C’” program to convert the infix expression to
postfix expression.
haE TR O QREhE T i aee & o s
sty ol
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3. a)

b)

[2)
Write an algorithm for insert and delete operations in
circular linked list.
wha foas foe § 370d ik Refle sy & R
Tenfuy forad
How a binary search tree is traversed? Explain with a
suitable example.

T8 WY ) F o R s @7 S9gE SERw
Y WE HIfag

Insert the following list of elements from the avl trec . Delete

the elements 18, 2, 30 from the 12, 30, 36, 18, 25,9,4,2,17,
14, 20 and 47.

wdivet # & awt &t FeafaRea gt =) 12, 30, 36, 18, 25, 9,
4,2, 17, 14,20 3R 479 ¥ 18, 2, 30 a= =) ge1 &)

5. a)

b)

What is heap data structure ?explain its operations with a
suitable example.

#iu srer TRE T 7 U JuGT ISME & W /S
weTe & @ )

Sort the following list of elements 30, 56, 78,99, 12, 43
10, 24, 85 by using merge sort.

74l | @1 I9anT &es 30, 56, 78, 99, 12, 43, 10, 24, 85

aatl &t gt o TG DR
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b)

i)

(3]

Compare and contrast bfs and dfs.

bfs 3R dfs it gen T

Discuss kruskals algorithm with an following graph.
fFr=rfeifaa s & Ay et Teien ar 94t |

Explain shell sort algorithm and simulate it for the
following data 35, 33, 42, 10, 14, 19, 27, 44,

9 w1 genfrem 6 amer o= 3k 38 Prafifaa s 6
g sgawor g 35, 33,42, 10, 14, 19, 27, 44.

Explain sequential scarch and simulate it for the followmg,
data 4, 21, 36, 14, 62, 91, 8, 22, 81, 77, 10.
It @R @ @ o ofR T Frififlaa s & fog
IO TN 4, 21, 36, 14, 62, 91, 8,22, 81, 77, 10.

. Write short notes on any two of the following:

Stack using linked list  ii} Indexing

tii) B tree )  Priority queue
frefaflaa o @ = 3 ox %ifdm feaft fafaq
i) & A nd 3t o e s Wb

i) SR

iii) fI 93

iv) SRR SR

CS/CT/CO-303 (GS)



